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What is the value of 1” p. g. r are real numbers. ; -
% g=L=5—P
2 prq=10
(a) If statement 1 alone is sufficient but (b) If statement 2 aloqe s sufﬁ‘c:c.m but
- statement 2 alonc is not sufficient statcinent | alone is not sufficient
(c) If both statements 1 and 2 together arc (d) If statements 1 and 2 together are not
sufficient but neither of statements sufﬁcxcn.t .
] alone is sufficient ~ . ® e L s
= ] é
amm Isx -y positive? NG L2
o= ' -
Si= 1. x and y are negative
= :
Y= 2. x is larger than y :
= ) If statement 1 a'one is sufficient but (b) If starement 2 alone is sutﬂc_!e_m but
i~ statement 2 alone is not sufficient statement 1 alone is not sufficient
(c) Ifboth statements 1 and 2 together are.  (d) If staiements 1 and 2 together are not
sufficient but neither of statements , sufficient ‘ :
alone is sufficient :
What expression represents the number of paisa, p. that the customer received in change from a
Re 1 note after buying n article each costing 5 p?
(@) p=1-5n /(;b) p= 100~ 3n
= (c) p=9%n (d) p=100-(n/3)
g If the length and width of a rectangle are both tripled, ‘ne rativ of the area of the original
= rectanglc to the area of the enlarged rectangle is?
el
8= (1) 1:3 (b) 1:6 ..
o= (o 1:9 ; () 408
= Two fractions each of wvhich has 2 valge between 0 and ! are multiplied together. the preduct
= will be: . R : : |
(a) Alwayvs greater than either of the (b)* Always less than either of the original ‘,
original fractions . fractions B

(c) Sometimes less and sometimes greater (d) Remains the same
than zither of the original fractions

Depth of Major Seas
depths in thousahds of feet
South China Sea
§ Carribean Sea
o E I ®
§ E Mediterranean Su
i=
o= Red Sca
=
=
= Gulf of Mexics ———
L e O ‘

Use the graph for question Nos. 06 gnd-a’l;‘

v
. < .



KCHI -

LA TAR BORE ARSI 0A 1
. 128918704 1281870-5
6. What i Z,Ifw approxnmé}e ratio of depth of the South China Sea to the depth of the Red Sea? 14. The arca of the rectangle ABCD is 108 cm* and the ratio of the two sides AB : BC :: 3 ; 4, then
(a) ..10 B30 AE =2 (incm)
(C) ¥ s (d) 7:3 B!
7. Appro umately, what is the depth, in feet, of the Caribbean Sea?
() €0 (d) 6300
8 = Six bells commence tolling together and toll at intervals of 2. 4, 6, 8, 10 and 12 seconds = % #
g respectively. In 30 minutes. how many times do they toll together? = (@ 7 4 (b) 73
= @ 3 (b) 10 = (© 8 (@ 85
3= (0 15 3E 3 5
o= (d) 16 15.?55 Multiplicative inverse of 10715~ o %
o “; In an ‘;lccli‘on between two candidates, one 2ot 55% of the total valid votes, 20 % of the votes ‘"_=5_ ) z ; (b) > ¥
= were invalid. If the total member of votes was 7500, the number of valid votes thai the other = (; 3 4 ot 2 ’?4’,
candidate got. was - A:) = @ =
(@ 2500 ) 2700 mA otk ; % =
{©) 2900 (@ 3100 — 16 Consider the following statement =
S 3 — i
2 ; : = (0] Every polynomial, is rational expression. =c
10 g\é:% E.“;l':" fl'lg\"'c of aA ABC. if the points D, E. F. G are joined together (o form a quadrilateral &5 (i)  Every rational expression is a polynomial, ==
L 4 ill we have in =" - —
. then how many triangles will we have uAme resultant figure. ;-5: Which of these oue true? =
/N = (@ (i)only (b) (i) only =
= E 25 L4 = (o) (i)aswellas (i) (d) Neither (i) nor (ii)
_% /“ / X 17. = Theregionin which null hypothesis is rejected is called :
2= SN = &= (a) Critical Region (b) Level of Significance
= e I ot T 3= (@ Accenrance Region y (d) Confidence Interval
= (a n S
= (lc) 13 (dz 5 18. % Siratified Sampling comes uader the category of |
o sl f h i buv books, he spent half th Iy on buyi = (a) Unrestricted Sampling . (b) Subjective Sampling
Suhel’s father gave him some money (0 buy books. he spent half the money equaily on buying 4 % i
books a1d entertaining friends. Whatever was left with him he deposited half of that in his (c_) Purpusive S‘?‘P"“g (@ ]‘(“5‘""'“‘ Sampling
saving eccount and Rs 5 he gave wa handicapped person in charity. If Suhel has Rs 20 left with 19. Wh-h of the following does not belong t0 the group with other three?
himn o tetum to his father. How much did his father give him initially? (a) Mean Deviation (b) Range of Scores
(a) Rs100 (b) Rs120 = (c) Standard Deviation (d) Mode of the Distribution =
(¢) Rs160 (d) Rs200 — Instruction for Q. 20 to 23: The problems contain a question and two Statements giving cendin =
alta = 5 g % B e
12 Some boys are sitting in three rows all facing North such that A is in the middle row. P is justto =, daw. You have to decide whether the data given in the statements are sufficient for answerng = g
the right of A but in the same row. Q is just behind of P while R is in the North of A. In which EE the questions. =H
direction of R is Q7 — 20, Ts the sum of two real numbers,a and b even? ="
— (@) South (b) South-West g = L a and b are positive =
E (o Nouh-East (d) South-East = 2. aandbare negative
— 1 . s —
I3.§§ In a wilu sanctuary, elephants arc more than tigers but less thai wolves is numbers. The wochs gi (@) 1f statement 1 alone issufficientbut 1+ (b) Ifstatement2 alone is sufficient but
2= are equal number to the foxes. If the foxes are 1/3 the number of deers, and cabbits are the éﬁ statement 2 alone is not sufficient statement | alone is not sufficient
£ highest in number, than what is the ratio of wolves 1o ecr? = () Ifboth statements 1 and 2 togetherare  (d) 1f statements 1 and 2 together are not
= (a 12 (b) 13 : = sufficient but neither of statements sufficient
= @ (@ 14 alone is sufficient
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e OW many girls qualified EBC—\ €Xam this year? ; . According to the passage. there was a standof¥ between:
Il.lﬁﬂll llusuu 1. Last year 150 girls qualified ¥ The govemment and RBI (b) The governor and RB]
. ( 12' This year there was a 10% decrease over last year in the number of failures (c) The RBIand other bankers (d) Business houses and governmen;
a) 1If stat is s ; > e . .
— ! stastcanlcenr:te;lall:r::rzz :nso:l:g-flgcci:t ?ur (b) If statement 2 alone is sufficient but 28. According to the passage. the lay reader caunot assess which of the two NSNS i i)
; n Statement | alone is not s. “ficient because : :
(c) Ifboth stat 3 - ; . : :
/ sufﬁcjema bellf:l:::fh::raz:i‘sztal(‘:;gnﬂh:r are  (d) [fstatchnts 1 and 2 toget! =r are not (a) Heisnotan economist /(() Heisnota Da?k:r
§ alone is sufficient EOs sufficient =1 (¢) There is_ lack of knowledge of formal (d) There s a turt war
= = conomic arguments
22, »= The aggregatc score of 3 cricketers A, B, C was 149 Wh h . P = e I : ¢ | !
s | Band C ey - Whatwas the score of each cricketer? 29. s == The govemment is accused of trespassing into sacred space of
E ; 2. e together made 76 L g% (a) Economists (b) Five year plans
E ( 1(: Aaud C together made 103 runs. EE ,(t(} Technociat central bankers (d) Parliament
= Statement [ alone is sufficient but b) If sta : . 2 = : . D)
statement 2 alone is not sufficient (b) sms[emeemfr:! 2I alonf is suﬁi:lepr but 30. = What is the antonym: of the word ‘standofF
(¢} Ifboth statemerts | and 2 togeth (d) If 0 > /s = pL e oS Lk
J L s “ Cr are tal o = >
sufficient but neither of statenients su;ﬁ;'e:::n Qe /e ik = (¥ Detached (NS s
alone is sufficient E, 3l. The synonym of ‘Punctilious’ is —
23. Was Avinash early, on time or late, for work? i L,} f E 8 Meticuluous {b)iGesuai
1. He thought his watch was 10 minutes fast. »‘\’%. = () Final {4y Perfunctory
= 2. Actually, his watch was 5 minntes Sow \}" = 32. “Mancy makes the Mare go”, means —
= (a) Ifstatement I alone is sufficient but (b) If statement 2 alone is su: icient but = (®) Moncy gioassioe Mare oz and () Meney lielps in achieving the
§§ statement 2 alone is not sufficient statement 1 alone is not: fficient ,; vk X sHostotisl
Eg (€) 1fboth statements 1 and 2 together are () Tfstatements | and 2 together are not 8= (¢) Money can achicve a substantial Mare.  (d) Maney allows evervthing subsiantial io
= sufficient but ncither of statcments ‘ o §§ havea'Mare go
= alone is sufficient 33. “E Select the appropriate aption —
24. = What is the product of all the numbers in the dial of a telephone? = we pliyed really well, we still lost the mately
(a) 1,58,480 (by 1,59.450 (a) Even though (b) Despite
(c) 1,59,480 C/(d}/ﬁonc of these ] However (d) Inspite of
25 What is the least number that must be subtracted from 104200 make it & perfect square? S Yor action *has knocied his plans on the head". *knocked his plans on the head’ means *
(a) 200 Ab) 25 - _A%) Frustrated (b) Head Injury
(c) 189 : d) 16 E (c) HitHard (d) Ignore
5 g; 35. This controversy is likely to create 3
i =! ; .
Read the passage given delow and answer questions 26 - 30, E ) B;“l Blood (b) Blood
Unlike in the worlds of business and politics, there is little scope for gossip in the world of = AS Blood Red (d) Bloaon
= cconomics, So when multiple signals suggested that there was a standoff between the = 36, = Consummate means -
- &= government and Reserve Bank of Indian (RBI), the media made the most of it, with a multitude &= (8)  Supreme (b) Flawless
§§ of stories reporting and explaining the nature of the spat and its implications, Given the formal 88 (o) Conscerate (d) Captivate
&= economic arguments that must enter those discussions, there is much that the lay reader cannot 17 §§ He feltd'shiver asvin hle <ot it :
is process to assess which of the two institutions is right in the controversy. However, the thrust of = SR LY "' IS spine as the bulldog suddenly ______ him.
= the reportage has been that the two institutions are working at cross purposes on issues varying = (7)) Snapped back AB)  Snapped at
= from banking regulation to control over the payments system and rights over the central bank’s = (c) Snappedoff (d) Snapped up
surpluses, and that the government is trespassing into what is sacred space reserved for
ISLILIVGLAL LA DALIKELS 41 UNUSITINL(Y UiE (USPENUENCE UL e CEOLH1 DANK.
26. What is the meaning of the word ‘Spat’
(%) Economicistrugture (b) Quarrel ' = a0 | ‘0
é) Surrender - (d) Concentrations 5 72 ¥ WX ALIGARH COACHING ™
2 \apa b 3 . CENTRE /)
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38. Insouciant means -
(a) Intrepid =AY Instructive
(¢) Undiluted (d) Unconcemed
39 He can never speak the truth; he is an liar.
(a) Untrue (b) Cruel
(c) Invalid _)u;' Incomrigible
Fear of dead body is
(a) .Nccrophobia (b)  Xerophobia
_{£3 Autophobia id) Zoophobia
‘Camouflage” means
(a’) Deception (b) Catastrophe
» (c) Bright {d} Essential
42 Waiting for the bus, she browscdh‘ tiie magazine.
{a) In 47" On
(c) At (d) Through
43, [was moved by the signt.
(a) Skillfully (b) Eloguently
ey Freely (d) Deeply
He is 4 mun of words,
(a) Few (b) Little
(2] A few (d) A litde

{jh(msr‘: the correct alternative for the following direct speech :
He saia. “Oi! that's a nuisance.”
(a)  He said whether that was 2 nuisance.
(¢) He exclaimed that it was a nuisance.

{d) He exclaimed that oh! it was a
nuisance,

406. Her contribution to art is __
(a) Most Unique

ey Unique

(b) More Unique
(d) None of these

47, She is very §
(a) Socialable {b) Sociable
(e) Socible {d)—Sacial
48, ___-Eg ['was touched by his gesture
é% _,(M"’Hunmfle (b) Human
§! (¢} olumain (d) Manual
49, E He made attempts to escape.
5 (u) Vranual (b) Frantic
(&~ Fanatic (d) Fanatical
IV LHL AU Y OU dEe v T 15 W00 Buuy ue.
,ﬂﬂ/ ‘T hat it can’t be (b) Forbeing
(¢) Tobeing (d) Tobe

P2

, \\_zi ;
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M He said tc them: that was a nuisance.

ISR

51

52.

n
e

50481821
LTI T

55

56.

0 0491621
ISTICTHARMATRRM SN

57.

58.

w
bl

6-0L81821
LTI T
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[F A"B means add B to A. A'B implies subtract B from A. A@B implics divide A by B. 4*B

means muliply A with B, then

If a train travels with a speed of Sy from point A 10 B and retums with a speed of Si. The
average speed will be represented using the above explained notations

(a) (2'51"52)/(&"51)
(€) (2*S1"S2)/(S/°Sy)

(b) (2*S1"S2)/(S/"S2)
' 485 (27S1@82) / (S1°S2)

Which of the following changes would make the given expression correct?
4+4x4-4:4=4 - i

{a) *+ and‘'x’ b) - and '+’
Ay 4+ and '+ (d) Both ‘b’ and ‘c'
You go North. tumn right, then right again and then go to the left. In which airection are vou
now?
North N B (b) South
(c) East (d) West
Find the number that is missing in the series : 2, 7, 17.32, 52.77.
a) 107 (b) 91 l__gL_/_ =
(c) 101 (d) 92 %
.-

1 113

If U.P.S.C. Stands for 21, 16, 19, 3 then %.S.LR. Stands {0:?

@ 3,19.1621 o A 3,19,9,18
() 3.9,18,19 # ) (d) 19,18,16,21
Which of the members given below is that numbers which is divisible by all namber from | ;-.;',J
except 5 & 77 v S 5 e
v 3 2 = e
(a) 140 (bj ,142 7\ “
146 s

(c) 144

i
- = 3
In a farm, along with SO hens, there were 45 goals and 8 horses and some (armers. It total
number of feet be 224 more than number of heads, then find the number of farmers

(a) 11
16
Find the odd one out
(a.)"f’ lourish
(c) Blossom

Find the statement that must be true according to the given information.
Vincent has a paper roue. Each inoming, he delivers 37 newspapers 1o customers in his

(b)
(d)

(b)
(d)

T

2 -,
15 s 7
e
18 =
Renovate
Thrive

neighborhood. It takes Vincent 50 minutes to deliver all the papers. If Vincent is sick or h‘us
other plans, his friend Thomas, who lives on the same street, will sometimes deliver the papets

for him, '

Vincent and Thomas live in the same
neighborhood.

(¢) Ttis dark outside when Vincent begins
his deliverics.

90
ar3°,,r 9
> ©

(b)
(d)

It takes Thomas more than 50 minuies

1o deliver the papers.

Thomas would like to have his own

paper route. PR A
% ;u’ ‘r' ;‘13",‘ peprBfosaD
p&c bErH

ANWRY T 2l

\
Y a3
21
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61.
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63. g:\?dl:cs‘:tgahsau:l;[:e ::lobg?l:sl;i’,’ “The father of his bml?er is the only son of my grandmother.
= (a) Mother ' .__(b) Cousin
= (c) Sister (d) Daughter
64. EE Which one of the numbers given below is different from the rest?
gg,«')’ 13 (b) 21
=) 17 @ 19
65, % Find odd onc out :
- 6,9, 15,21,24,28,30
(a) 28 2 () 21
: (c) 24 30
66. If *** indicates either “+' or ‘x’, what is the minimum value of
11%2%3%4
10 ®) 9
© 11 (d) 14
67. Choose the word which is different from the rest.
= (@)~ Chicken (b) Snake
5 (¢) Crocodile (d) Frog
68, §= Identify the relationship that exists between pair of words ~ ﬂoweré bouquet.
gg (’) Mapazine : cover (b) Tap : water
°§ ‘(;)/éoldicr: tompany (d) Bread : cookics
69. f'-=‘- If 5 spiders can catch five flies in five minutes. How many flies can hundred sriders catch in
100 minutes? i
@100 - 2n0n
(d) 1000

If in a certain code. LUTE is wri 2 : :
BLUE be written in that cod::" Writien as MUTE and FATE is written as GATE. then how will
a7 CLUE (b) GLUE

(¢) FLUE (d) SLUE

‘One moming Udai and Vishal were talking to cach oth
shadow was exactly to the left of Udai, which dircction

(2) East
(c) North

(a) 25

Gl

(c) 500

O A
1281870-10

Udai facing?
Cw))wf;

(d) South

Which one will replace the question mark?

(b) 37 SM/’L—‘;—@,\ 2

(d) 47

er face 1o face at a crossing. If Vishal's

- Tvn e

L A T VT

LG LV T

i I'ﬂﬁllulil;ljl’lllbi_bl‘illllll Ii

70.

Mﬁ)/DCE
(¢) ECD

Which of the following tenms replaces the guestion mark ‘n the follow:
pBC BC 3 )
“BAC.CBD,__ 7 EDF FEG

(b) CDE

_i5 DEC

ng senes?

BAC 45 C B0

21, THEARis coded as ARPE and ROPE is coded as PERO, then HARD)would be coded s :

(a) RADH
(¢) DRAH
72.
be the code for SEARCH?
(a) 246173
214763

L-08lect
(P

(b) DHRA

¢ 4H—RDHA

(d)

If ROSE is coded as 6821, CHAIR is coded as 73456. PREACH is coded as 961473, What wij)

Pointing to a photograph Anjali said, “He is the son of the, only son of my grandfather.” How is

73.
the man ir. the photograph related to Anjali?
(a rother (b) Un.le
(c) Son (d) Data is inadequate
74. A man walks 2 km 1owards North. Then he tums to East and walks 10 km. After this he tums to

North and walks 3 km. Again he tumns towards East anu walks 2 km. How far is he from the

starting point?
(a) 10km
= _(c km

713 km
(d) None of these

TSEE is the mother of K; K is the sister of D; D is the father of 1. How is P related to J?
5; (a) Muother __{b)" Gr ndmother
‘g (¢) Aunmt (0) Liaw maucyuais
76. = Anti-Amack movemant started by women i1 Andhra Prad :sh was against
[ Economic exploitation (b) Prostitution
(¢) Domestic violence (d) A'coholism =
77. The Government of India recently launched a portal called NARI which stands for
(a) Natonal Academic Repository of (b) Nadonal Action-taken Reports cn
Information Intemnet Users
(c) Netional Repository of Information for (fl),.-‘Nalional Repository of Reforms in
Women Industries
78. Parkinson's discase 1s associated with
= /e
= (4) Kidney (b) Heart
_.E (c¢) Liver (d) Bruin
79. ?‘.E “Irani Trophy™ is associated with which of the following games?
o= :
£= (a) Badminton (6) Golf
e 23 \
= (c) Cricket (d) Football

- =
80. == The first chairman of Disinvestment Commission was .

(a) G.V. Ramkrishna
(¢) C.Rangaragan

11

(b~ MadhuDandavate
(d) Indira Gandhi

ALIGARH COACHING |
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81 Main objective of “Antiyodaya’ programme is to - m““v‘z‘e‘!yl!],ly i
Iz) ;ph:ﬂ the urban poor /m Uplifh thie farmers 93. Tnterest (?n saving deposit now-a-days is :
& ) ; plifi the landlcss labour (d) Uplift the poor () Fixedby RBI (b) Fixed by the respective banks
<. Who of the following was known as “Deshbandhu’? (c) Fixed by the depositors (d) Fixed as per the contract between bank
(a) Aurobindo Ghosh ; : L and the consumer court
(b) Ciuttranjan Das . s
(¢) DadbhaiNaoroji (d) Iyotiba Pjhulc 94. Which Bank gives long term loans to farmers?
3. = India’ : : (2) NABARD :
83. = India's longest river bridge, the Dhola-Sadiya bridge is located in which state? = (© sal it (0] skand Deieiopoies B
_= (a) ‘'WestBengal (6) Tripira = L Je et Becs
Eg Al e P =) 95. = Cc(m)lnb::;u:n of Agriculture to Gross National Product is approximately —
S= anil Nadu == (2 % b) 6%
84.2= W o ot : = :
RE w h‘_’ 2008 the t°“°“ ing has been conferred with 2017 Jnanpith Award for Literature? i 3; O e = @ 20%
= :a:; zﬂjmdm Yadav (b) Krishra Sobti 96.0§ Thc govemment uses this policy as an instrument to keep check on money supply and rate of
= (c) Namvar Singh (d) K.N.Sin = interest :
. N. Singh = - - : g
g5 Which of the following pairs 1s NO 1) Sadusiial Po“-cy (b) Fiscal Policy
(a) The Ministry o?gtmmt H—a I-Commy [peichne y L HomctanEolicy (4) Both (b) and (c)options g
Arundhat} Roy ACAIapPINeSS — (b) The Lives of Other — Neel Mukherjee 97. Economic growth is usually coupled with — =.
‘ ; (2) Deflation (b) Inflation =c
(c) T:}t‘; :‘ca: Elggl lM(ml[l;s air:d Trventy-  (d) River of Smoke ~ Pankaj Mishra (¢) Stagflation (d) Hyper-inflation ==
2 ights — i =N
g alman Rushdie 98. A ‘Closed economy’ is an economy in which — —
#6. - The slogan “Conserve Energy, Bum Calorics™ is sponsored by — (a) The money supply is fuily controlied  (b) Deficit financing takes place §
= (a) The Union Mmistry of Pe}roicum (b) The Union Ministry of Health and = © Only expots takes place {d) Neither exports nor imports take place =
= o S Family Welfare . 99. & IFMOBILITY is coded as 46293927, then EXAMINATION will be coded as
= (¢)  Union Ministry of Forest and (d) None of these i 8= (a) 65145919256 (b) 356149512965
;:g Environment i EE (c) 45038401854 (d) 57159413955
V== % AP 5 ' . " X | e
87. = Tl(u. 2610 b.?]s::(‘::;dgcung in India was first cxperimented from : 1‘ IOO‘.’E In & right circular cone, the cross secuon made by a plane parallel to the baseisa:
= (a8 n~pd {b) April 2000 = (a) Sohere (b) Hemisphere
() April 1991 () April 1949 ' @) Gk (d) Semi-circie
88, The name of the famous person of India who returned the knighthood conferred on him by the :
British Government as a tokea of protest against the atrocities in Punjab in 1919, was :
(a) Tej Bahadur Sapru (b) Ashutosh Mukherjee = =
(¢) Rabindranath Tagore (d) Syed Ahmad Khan g —
89, The primary goal of a welfare state is to achicve = E
(a) Social Justice (b) Freedom to all E
(¢) Employment to all = (d) Political Justice =8
-
90, = In [ndig the interest rate on savings accounts in all the nationalized commercial banks 15 fixed = =
- h}"~ -| —
I (a) Union Mimstry of Finance (b) Union Finance Commission | i
5 (¢) Indian Banks' Association (d) None of these 3
9] SE Which one of the following is the special drawing rights given by the International Monetary ! @
= Fund to its member countries? =
» (a) Cole Money (b) Hot Money L
(¢} Paner Gold (d\  Noane af theen
92. The type of market in which securities with less than one year maturity are traded is classified as
{a) Money Market (b) Capital Market 13
(¢) Transaction Market (d) Global Market '
12 f
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